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Review MODULE 15

1 uniITs 78 AND 79 Match each sentence beginning 1-8 with one of the endings A-E. Some of
the endings can be used more than once.
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In Britain it is so cold in the winter that A oranges and lemons
Farmers can’t grow oranges in Britain because of can be grown there.
B oranges and lemons

Farmers can’t grow oranges in Britain because
gr 8 can’t be grown there.

In Britain it is too cold C to grow oranges and
In Britain it isn’t warm enough lemons.
It's cold in Britain in the winter. As a result, D the cold weather.

E itis cold in the winter.

In Britain people build special glasshouses in order
In Britain people build special glasshouses so that
Britain has such a cold winter that

UNITS 80 AND 81 Complete the sentences with a suitable word or phrase. Match them with
the pictures.
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This shows that you're married ""‘l"" it’s usually made of gold. ),
................... it has wings, itcan't fly. ...

It can send emails .. . . . it can’t make a cup of coffee.

People often use this to pay for things in shops. ................., it can be used to get
money from cash machines. . ...

You eould g buy this from a shop or make it yourself.

Notonly ... .......... this allow you to breathe underwater, but it also helps you to see
thefish, ...

This will keep you dry in the rain. .._................, it doesn't work very well if it's windy. ...

UNITS 80, 81 AND 82 Join the sentences, using the linking words in brackets. Make any other
necessary changes.
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Would you like a view of the sea? Would you like a garden room? (or)

I finished my essay. Then I sent those emails. (before)

Andrea lives in this part of the city. She works in this part of the city. (both ... and)
The company’s head office is in New York. Its biggest factory is in Texas. (while)
I was wearing a smart suit, I wasn't allowed into the hotel, (even though)

I heard the news on the radio. I immediately phoned my best friend. (as soon as)



